Function properties

Onto but not one-to-one One-to-one but not onto One-to-one correspondence



ANB=0 — |AUB|=|Al+ |B]

A B A B
|AUB| = |{a1,a2, a3, x, b1, b2} = 6 |AUB| = |{a1,a2,a3, b1, b2} =5
|Al+ |B| = |Al + |B| =
= [{a1, a2, a3, x}| + |{x, b1, b2 }| = |{a1, a2, a3}| + [{b1, b2}

=4+3=7 =3+2=5



ANB=0 — |AUB|=|Al+ |B]
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ANB=0 — |AUB|=|Al+ |B]

i f i ‘ g
1 Zed 1 | Wilhelmina
2 | Yelemis 2 Valerie
3 | Xavier 3 Ursula
4 Tassie
i h
1 f(1) = Zed
2 f(2) = VYelemis
3 f(3) = Xavier
41 g(4-3) = g(1) = Wilhelmina
51g6-3) = g = Valerie
6|g6-3 = gB) = Ursula
71 g(7r-3) = g4 = Tassie



ANB=0 — |AUB|=|Al+ |B]




f:A— Bisoneto-one — |Al <|B]
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f:A— Bisoneto-one — |Al <|B]

Fo6({1,2,3}) H~o FoG({1,2,3})
{1,2,...,i} ={1,2,3} A=G({1,2,3}) B {12, = {1,2,3,4,5)
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,,,,, =2
(12,7 Tk = {1,2,3,4,5} {1,2,3,4,5) — Fi~1o F o G({1,2,3})



